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* ACTIVITY 1 x*
3¢ 3¢
3¢ A Find the answer to each problem. Type the correc’r answer on the 3¢
% blank. 9%
3§ 1.There are 6 dogs. €
i 4 of them run away. ﬁ
3% How many dogs are left? %:‘
Me 6-4=__ dogs 3K
7
5:(‘ 2. There are 8 cats. 3¢
Z
i 2 of them are eating. ?
~
9:6 How many cats are not eating? %&!‘*m 3¢
3k 8-2=__  cats e
;ii 3. There are 12 birds. y, 55
of them fly away. g
, 3 of them fl ‘ﬁ' e
r3 S
3% How many birds are left? ’Hﬁ}% 3
3¢ 12-3=____ birds 3
i: 4. There are 3 owls. ;E.:
9:6 3 of them are sleeping. e
3% How many owls are awake? \ e
ales 9:{'
N 3-3= owls
VA
% B. Type the number sentence. Then, find the difference. %
\'é s
7 N
;:é 5. How many more boys are there than girls¢ ;:5
3¢ ¢
3¢ 3¢
3¢ S
3 €
3 €
3 3¢
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6. How many more mangoes are there than guavas?
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o 9. How many more birds are there than cages?
W WY
YOO VY
VOUYY

10. How many more chairs are there than tables?2

ACTIVITY 2

Use the number line to subtract. Type the correct answer on the blank.
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jﬁ; e ;; e wos T lrz 1’3 V. |=5_* i
sk 15-8= 3¢
3 - 3
i JG N 5 3 zll T EoF B4 dg-irig |=3 |=4 o i
¢ 14-7=____ sl
% i I | I [ | 1 I | | | | | 1 *
¥* POt s 5 7 8 9 1011 12 (314 o X
i 13-4= i
i: ACTIVITY 3 ié

Find the difference ¢
?; L1-2=_ 611 -4=___ i
3 2.12-8= 7.14-6=_ €
i 3.18-6= B 16=d=___ i
e 413-3= 9.15-9=__ %
e 5.17-5=___ 10.10-7=____ sk
23 Y3
3 Y3
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3 3
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